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2 B 750 119 123 134 117 134 123 28
— % 245 44 37 37 37 47 43 13
JI S| 575 77 89 92 108 103 106 22
e JII 522 92 68 91 98 98 75 20
kB M 662 99 111 115 97 116 124 27
JI [i] 283 47 44 46 43 43 60 15
A ¢ B 276 56 42 41 51 40 46 15
HoF ok 435 63 66 68 76 81 81 19
[ic} M 40 4 3 11 8 9 5 5
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oo | 552 90 97 83 91 80 111 22
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(EA | ) 63 8 8 13 5 12 17 8
o Wm K 619 101 85 104 116 122 91 26
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wmoN R ¥ 21 3 1 2 5 6 4 4
T % M| T 15 229 35 37 30 41 33 53 11
A NI N FN 29 4 2 3 4 9 7 5
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R A 213 40 30 41 30 34 38 11
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E I 67 8 6 18 11 12 12 8
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